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PART-B Contd... from page 3

Q V. Answer any five (5) of the following questions 5 x 2 mark = 10

1. Differentiate between apomixis and amphimixis.

2. Define polyembryony. What is the horticultural significance of
polyembryony.

3. Differentiate between scarification and stratification.

4. Write down the advantages & disadvantages of sexual and
vegetative method of propagation.

5. Define micro-propagation. What are the different stages of
micro propagation.

6. How does the union of rootstock and scion take place?

7. Uses of growth regulators in plant propagation.

. Answer any five (5) of the following questions5 x 3 mark = 15

1. What is cutting? Briefly write about the reasons for failure of
some species to root formation in cuttings.

2.  What is grafting? Write two important types of grafting along
with suitable diagram.

3. What is green house? Write briefly about different types of green
houses based on its structures.

4. Discuss briefly about mist chamber and hot bed along with their
utility in plant propagation.

5. What is graft incompatibility? What are the types and external
symptoms of Graft incompatibility?

6. Explain nursery registration act. What is the process of nursery
registration?

7. Discuss in detail on physiological and anatomical basis of rooting
of cutting.
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Instructions to the Students:

Total marks: 50 (Part- A: 20 marks and Part- B : 30 marks)
Part - A Question paper:Answer within 30 min.

All answers should be written only in OMR Sheet.

Write the Correct Part-A Question paper Set Code in OMR sheet.
Get the signature of the invigilator on your Part- A QP.

Part- A

Q.L. Select the most correct answer A/B/C/D for the following
questions. 20 x 0.5 mark = 10 Marks
1. Corm is modified form y
a)Leaves b)Root “c)Stem  d)none
2. Which of the following hormone is used commercially in rooting of
cuttings? a)NAA .IBA c)IAA d.MH
3. Which of the following is commonly us’e/d/fo overcome graft
incompatibility? a)Scion b.Stock *c)Inter stock d.All of these
4. The most ideal temperature to be maintained in bottom heat box for
rooting in mango is: )32°C b.52°C ¢)70°C d.None of these
5. Tissue culture is based on the principle of:
a)Apomixis b)Polyembryony c)Parthenocarpy
6. Seed viability test j {also called as:
a)Ragdoll test B)Tetrazolium test c)Eliza test d)Germination test
7. Which of the following is plant growth retardant?
a)Auxinb)GA3c¢)Abscisic Acidd)Zeatin
8. The plant part used for tissue culture is knO\‘N}/clS
a)Stem cell b)Proplant c)Guard cell d)Explants
9. Ginger is propagated by using propagating material:
a)Corm b)Bulb ¢)Rhizome d)Roots
10. In Which type of germination, cotyledons come above ground?
_d)Hypogeal  b)Viviparous  c)Epigeal d)All of these

)Totipotency



-

30

~pIu0y)

‘Sunyean x uippnq Jo sadA) Juadaip oy Isijuy *Z
'asnoY 18U apeys pue Iaquieyd ISIW Jo Sas() ‘9

"B[UOY pUE ULIBPUBJ\
‘eAedeq ‘oiddeaurd jo uonededo.d jo poyraw [eDIBWWOY) G
‘Buriake] puno.ad ueys JuaaayIp SI SuLiake[ J1e MOH “§
‘Aoueuriop passauyaq ‘€

(senlanoe
A1asanu 10j pasn syuswa[dwl % s[003 Jueltodwil ay) a1 Jeypy ‘7
‘A19sanu auysaq T

S0 = Y Iew [ X G suorisanb Suimojjoj ay3 jo (5) aay Aue qamsuy ‘Al O

‘Ajuo sabod ajpiuadoaddpuo
U2311M 2q pInoys [A pup A ‘A] suoisanb ay3 03 S1omsub ||y 7
‘A1osindwiod s132]400q 42MSUD UO 403D]1D1AUI fO 2.4NJDUDIS ']

g -1ed q
=
puowy [ [ gunjeid asauap [ ot H
aiddy | | duijools | 6¢ Af
eueueg | H sians | g€
unwe( | H stouuny | /€ 8
uadalsoduepy | i anoon [ 9¢ i
eaeny | 7 [ Aipqnedwooul-jds | Gg ®,
oduep | q Adiedouayired | p¢
31| 9 sisauagdouaylled | €€ ﬁ
N | g AuoKiquiakiod [ z€ 5
Alaqmens | y xixiwody | I¢§ T
g uwnjo) Y uwnjo) oN'D

SHJIBIA SO = HJeWw G0 X 0T
*I9MSUE }J3.L10J .10} § UWN[0D YIM Y uwnjod yaen Mo

3unino
ur 3unoo. ajowo.dd [[Im UIUDR{0IAD JO [9A9] SNOUSZ0PUS JO [9A3] YSIH 0€
'$32035300. Jo uononpo.d 10 92.1N0S 9Y3 SI pass "67

w91SAs 1001 e ojul sdo[aaap 1ey3l wals 8y jo 31ed a3 S1 uoIdS 3y [, ‘87
‘syuepd

_ 592 3001 0} Ased woy S3UMIND JO UII00L 10§ PISN d1€ SIqUIBYD ISI *LT X

*AOUBULIOP Paas JO SASNED JY} JO dUO SI 0AIqUId AlejudwWipny ‘97

Z‘C ‘3unyead diym jo wroj payipow si duiyjeas anduo], ‘Gz
74( "U0129jul [ediA 03 duo.d ae snayid Jo sSul[pass 1ej[adnN vz ¥
‘paas jueuLiop ul uoneurwtag ajowo.ad ygy €7

<« ‘Aouewiop snouagoxa

Se umouy| St 0A1qua a3 9apIsINo S.1032ej AQ pasodwi Aoueurioq ‘zz

Ig 'syueld Jayrow a3 03 adA3 03 anuay aude syueld Surpass ‘17 %

SHIBW S= S0 X 0T 199Ys
HINO Ul sjudwiadle)s 3uimof[oj at 10j (4)asvy1d/ (L)ANYL 12T’ I1'D
9say3 Jo auoN/(p uonezijeuap(d uoneognm;ggfq uonedyLeds(e
Jjuaweay Sulf[Iyd 3siow Se umous| os[e st 3urmoj[oJ a3 Jo YdIYyM "0z

oguep(d unwe((q sn(e

/\ way Jo [iv(p
(adnieu ur druoArquiaAjod aue symnay Suimoj[oj a3 Jo YaIym ‘6T ([
arddy(p unwe| (2 o3uep(q ITead(e
iUl paAl1asqo ST sixtwode Jua.LINdY ‘8T q
VYNP  aulfedozipy( vvia  HN(e =)
:1030€J -0 3unoo. sf 3uIMo[[0J Y3 Jo YDIYAM "LT

MIpINP  10¥(d>  yo Surdureq MM(e
:ST A19S.InU JO 9SeASIP SNOLISS AIdA 3y [, "9 6
asayrjoauoNp Suypun(d Sunuepdsuer] q SuppLid(e
:SEe pawda) )v
s1 Aeay 10 ued ‘paq Jayjoue ojul s3ulpads SunoA jo SuLLivjsued) ay ], ‘ST
asay1 Jo auoN(p uonezijeuta (> uonesynensd ™ uonesyreds(e
Juawiea.y sulf[Iyo 3siow Se umous| os|e st uIA0[[0J 33 JO YIIYA\ ‘1

dunjeinp duriake JLY/(). duippng-q gumny(e
:uf pasn Ajjeaauad st ssow wnudeyds "€
asnoy_dN'p  paqioH(® awie.j pjon” asnoy yeq(e

;3unuerd a10jaq s3uipass SuwoA 10 Sunind pajool
jo 3uruap.ey 10j pasn Aqrrewrid s1 91n3ana3s 3UIMO[[0) 93 JO YdIYM "ZT a
9S3aY) JO dUON'P ‘uonedyLIeds
uonedynels Joopngq uonedynens(e se umouy S13eod
Pa9s 911 SUJOS .10 SUIYBaM Jey] Juauneal) [edrwayod 1o [edisAyd y 171

Juswadeuey A1asanN pue uonededoad jueld :((1T+1)Z01-2S4d V 19S



